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1-1- True breeding means.
(a) Homozygous v (b) Heterozygous

(c) Karyotype (d) Phenotypé
2.  Which are decomposers.

cles Wi

(a) Plants (b) Animals

(c) Algae (d) Fungi and bacterla 1/
3- What do some bones produce: .

(a) Mucous (b) Hormones

(c) Blood cells v  (d) Oxygen !
4- For all ecosystems the basic source of energy |s

(a) Plants (b) Water
(c) Sun vV

vaccines:
(a) AIDS

(c) Cancer

6- Where does the
human:

(a) Pharynx
(c) Bronchi

(a) Spore formation (b) Multiple f
(c) Binary fission - (d) Budding v/
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is responsible for filtering the
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8) Intestine (b) Kidney vV

(c) Brain (d) StomaCh;
~The nhumber pairs |

~hromosomes in human cell are:

(b) 25 e

(d) 237y .
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What are the effects of smoking on teeth?

Ansg ing | | kening and staining
+moking is responsible _for wea | _
the teesrh. Too?h oss is 2 to 3 times higher in smokers thanh _

in NON-SMOKers. | . )
(i) How soundis produced in voice box?

@™ Two pairs of fibrous bands called vocal cords are
stretched across the larynx. The vocal cords vibrate when

the air passes through them. This vibration produces
sound. S '

(iii) What is the function of hairs and mu
nose? Y '

EB The function of hairs and mucous in the nose is to '
fter the dust particles from the air. The mucous also

moistens and warms the incoming air and keeps its
tfemperature nearly equal to that of the body. '
(iv) V\!hat are the causes of

cous in the




seizures.
3a ntiepileptic’ Arugs
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= itted to the nex
transi due 10 various reasons befOre

ge and only the fittest and beg

generation I8 |
many individuals die

reaching the reproductive at
ctive age.

survive to reach the produ Pk
(iv) Whatis micropyle? What is its uUse for seed? .
ning in ovule through which

LU Micropyle is the opeér | :
pollen tube enters. Seed US€s it for the absorption of water,

(v)  What is meant by alternation of generations?

XD “The phenomenon in which tWo different generatiohs'

alternate with each other during life cycle is known gas

alternation of generations. 5k

(vi) Differentiate between homozygous genotype
and heterozygous genotype. s 7

LYD The genotype in whi ir co .
> ype in which the gene pair Ins t
ldentlc%ak: alleles (AA or aa), is called hgmozyF;ou:gre]iao|tr;:etwo
i te genotype n which the gene pair contains tw
Teren alleles (A a), is called heterozygous genoty :
(vi) What is meant by co-dominance? e

Ans_ Co-dominance is the si '




phenomemeon in which certain gases (called greenhouse

qases) trap heat in the atmosphere. These gases act ike
the glass in a greenhouse, which does not allow the inner

heat to escape. | |
Carbon dioxide, methane and nitrous oxide are

important greenhouse gases.
(iv) Write down four uses of formic acid.

Ansg Followin_g are four uses of formic acid: P
é | Lésed ntextile dyeing 2. Leather treatment
. Electroplating 4. Rubber manufacture

(V)  Define the term b; 2 e
oné balenet o lotechnology. Also write *!tg
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drug, the person's body pecomgs familiar to it and the
user cannot function well without It. . | s
(vi) What do you mean by narcotics? Write down s —

one use.

XD Narcotics are strong pain killers, often prescribed in
conjunction with other less potent pain killers (paracetamo|
or aspirin). These are used to relieve pain for patients with
chronic diseases such as cancer. ' A
(viii) What are sulpha drugs? Write down its one use

LD Sulpha drugs are synthetic antibiotics that contain
sulfongmide group. Sulfonamides are broad spectrum
bacteriostatic antibiotics. ‘They inhibit the folic acid

synthegis In bacteria. They are used to treat pneumonia
and urinary tract infections. ’

(Part-Il)
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down the name and explain different
components of coordinated action. (5)

| [ Following are the name of different components of
| ~oordinated action:

1. Stimul 2. Receptors 3. Coordinators
A. Effectors 4. Response _
4. Stimuli: '

Touch, light, etc. are factors that can bring about

certain responses in living organisms. These factors are

called stimuli. A stimulus can be defined as any change in
| | 1), which can provoke a

les of stimuli are heat,

receive information from
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nal cord) tO muscles ang |
« In chemical coordination, |
nessages from coordinators §
rget tissues, which act §

hormones, nephrons act as §

many hormones.

5. Response: _ | T A
oi:u receiving the message from coordinators, the

effector performs action. This action is called response.

For example, pulling our hana away from something very
hot and the movement of the flower of sunflower towards
light are responses. Usually, nervous coordination produces
mmediate but short-living responses ‘while chemical
coordination produces slow but long-living responses.

Q.6.(a) Define arthritis and describe its types.  (4)
LYD For answer see Paper 2016 (Group-ll), Q.6.(b).

(b) Defin_e_ germination of seed. Describe various
conditions necessary for seed germination. (5)

LID For Answer see Paper 2016 (Group-), Q7:(a)e

— O

Q.7.(a) Give a detailed account of urbanization. (‘_4_)_
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cunt level of urbanin n,akistan IS about 32%
which is not high by global standards. | i 3__2 &
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cities should be reserved through zoning and I:
The urban spread-out should also be controlled.

of public transport instead of individual tran
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LI For Answer see Paper 2015 (Group-l), ¢
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